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{Logical Reasoning)
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Time: 3 hours. Maximum Marks : 75
' (Write your, Roll No. on the top immediaiely
’ on receipt of this question paper )
NoTE:— (i) Answers may be written either in English or
. in Hindi; but the same medium should be
used throughout the paper.
(fi) The maximum marks priﬁted on the
question paper ure applicable for the
students of the regular colleges (Cat. Aa’).

- These marks will, however, be scaled up
- proportionately in respect of the students of

NCWERB at the time of posting of awards
for compilation of result.
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SecTioN A (EIUg 31)

1. () Explain four standard form categorical proposi-

(b)

tions keeping in view quality and quantity of them.

ToEE Aw uem ®)ffER § we g 9w

HEF-IME (s ghatad & s aﬁﬁw

Or (31g=)
Explain distribution of terms in A, E I O
propositions.

A,E,I,Oaér'ﬁﬁﬁﬁwﬁ'aﬁwma%m
T | o 4

Reduce the following pr0p051t10ns to thelr logical

" form :

() Afew students are punctual

{it) Only girls are allowed to enter the audito-
rium.

(i) Scrcut:sts are never fools.
{iv) Flowers are fragrant.

(v) Most college teachers are regular.
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(vi) Al TV progfammcs are not worth watching.
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_ Or ( 312331) A
If ‘Al -cats_ are mammals’ is true, what may be
inferred about the truth/falschood of the
following propo- sitions :

- (i) No cats are non-mammals.

(i) Some non-mammals _afc not non-cats.
(il All mammals are cats. | 7
afe ‘gt fufeeal wawd & @ 3 @ Prefafes
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2. (a) Prove the following : P T O
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(b)

4

(i) Majnr"pre.mise must be universal in figure-1.
(#) Both premises must differ in quality in-

figure~I1. )
Frafafes A fag wifvg; |
() &9 AUREET 9N AR F . WE
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@) fifta sm § O snumEEE QU § A

Rk icroel
Or (3194)

Explain and illustrate the fallacy of illicit minor,
illicit major and undistribuled middle. ’

AT sIME-TT AN, g9 &, W erEny
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Give the converse and obverse of the following :
(i} Some soldiers are brave.

(i) All men are greedy.

Frfafes sdo=l & wRafda qar sfeffs &g
Sfym . ' 7 '
() T° fand smge dd &

() | 715y weh A &

" Or (3reay)
Write a short note on traditional square “of

~ opposition.
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SectioN B (TIUS &)

3. Using truth-table method determine vahdlty/mvahdlty
of any two of the fo[lowmg arguments :

g-wfeh fafa g fied @ gﬁm’t F euay/ardua
Fuffia aifg

() (AVB)D(A.B)
- (AVB) +(A.B)

) Lv(M. ~N)
L/« ~(M.~N)
) (pvg)yor
~r -~ ~(pvq) 5%2=10
4. Use the shorter truth-table method to prove the
validity/invalidity of any two of the following :

FIT FE-E Bl g Frafaten @ A e @ @
v/ wfe

B {{(RVS)DT].[TOR. D[R $)IRVS)]
() (~AD~B)2 ~C]D[AD(BDC)]

(i) {{Uj(WW)}i[’(v; WD ~UID~U  sx2e10
s, Construct a fofmai_ proof of validity for any mwo of the

following arguments :

P.T.O.
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6. (a)

(b}
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Define the following expressions as per the
instructions : ' ‘

D) (pDg)D~r into «~sand ¢

(i) (p=q)into «~>and ‘V’

(2} (pVv ~qj2} r in.to_Stroke function.

frefafea g6 o MIvman ke i

() @2g)2~r B~ Fm A

(i) (p=q) T «~rgm ‘v F

(@) (pv~g)2r MEFERT 1 2x3=6

Symbolise any four of the folloﬁving proposritions
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into the log:cai ‘notations of proposttlonal func-

tions and quantifiers :

(f) Mostly ladies are rehglous (Lx Rx)
() Gold is metal. (Gx, Mx)

- (#if) A few mathematicians are scientists.

{Mx, Sx)
(iv) Only gitls are playing. (Gx, Px)
(v} Smoking is injurious to health. ( Sx, Ix)
fmfaﬁ%ﬂﬁﬁ%ﬁanaa‘a@maﬁmm'
SR & IR ¥ sehaa S -
(@) fumn Afeerd aitfs 89 §1(Ly, Ry)
(i) W wg ] 1(Gx, Mx)
(i) T ag dTH AX §1(Mx, Sx)

. (v) ¥Ew agtRal @a W ¥ 1(Gx, Px)

7. (a)!

(v) HHYA EF & AU e € Sx, Ix) 4
Secrion C (WUE 1)

Write notes on any two of the following fajlacies :

(i) Argument Ad Ignorantiam |

(if) Complex Question

(éit) False Cause-
(iv) Accent. _
frefafes & ¥ frel 8t W ol fafey «
‘ P.T.O.
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(ii) °d ¥
(iti) Tz Ty , ,
(v) @U@ aERAT . 5x2=10
Identity and explain the fallacy committed in any
one of the following examples :
(£} There is no.such thing as knowledge which
cannot be carried into practice, for. such

knowledge is really no knowlédge at all.

(if) Space is nothing but a relation. For, in the
first place, any space must consist of parts;
and if the parts are not spaces, the whole is
not space.
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